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SECTION-A .
\  Answer any Five of the following questions. Each question
| carries Five marks. (5%x5=23)
808 T96° DB Bt gt ST (S, (8
BEHH td Sednen.
Find the equation of the plane through the point ( 1, 3 2)

“and perpendicular to the planes X + 2y + 2z =5and
_3x+3y+22 8. |

(-1,3,2) Do frome e x+2y+22-—53536d$»

3X+3y+22 8 Herery eomor™ ﬁ&l)& S0 388w -
B0 0w,

[Turmover



- 3x+4y+7z+4=0, X-y+2z+3=0.

- dotwe (3,1,-1) Do oo HSH Serssm 55356890
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A variable plane passes through a fixed point (a,b,c),
meets the axes of reference in A, B and C. Show that ;
locus of the point of intersection of the planes throug
A,B,Cand parallel to the coordinate planes is |

ax™ +by™ +cz7 =1

o8 S8 Sosm (8,b,C)e3 {8 Dot Howe DBSHHB. & Sof
QsrHsesreod A,B,C 038 PoBotDHG. QBHE éSesb
$xrostorrd A,B,C dotbHe o D% Sore oS Hof
-é’)od: S50 ax” + by +cz7' =1 ©d SeHod.

Find the equatlon of the plane thi'ough 3.1.- 1)
perpendicular to the line of intersection of the plag

3x+4y+7z+4=0 y x-y+22+3=0. Serer T5S 3&)&‘0 ©ON :

Find the equation to the line through the 01‘10111 }
intersecting the lines 2x—3y+4z+1-—-0—-3x+2y+4z |

2x-4y+z+6= =0=3x-4y+2z-3.

2x-3y+4z+ 1 =0=3x+2y+4z-5; 2X—4y+z+6=0=3x-4) | ‘
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A sphere of constant radius k passes through the origin
and intersects the axes in A,B,C. Prove that the centroid
ofthe A ABC lies on the sphere 9(x? + y? +2%) = 4k>
k28 argrgasoreiio 2.8 AP Soredotsd rhoce e TP

A,B,C o 86 90od3835)8 AA,B,C Booeerssm
I(x* +y? +2%) = 4k? AP0 ¢0tnosd SrHos.

g, Find the equation of the sphere through the circle

x? +y2 +z* =9,2x+3y+4z=5and the point
: A(l._,2,3).

X’ +y2 + z? =9,2x+3y+4z=5@3 Sygo Moog®
8asw (1,2,3) Doty Mo DG FP¥o HEBe0 éé::gr’g’o&.

Find the enveloping cone of the  sphere
x* +y? +2? +2x -4y = 0 with its vertex at (1,1,1).

(1,1, 3¢ '360 ao&, x2 +y +2z*+2x-4y=0 o
R85, )5, Sopoisy 5ioEBmsoRs ERE08

- Show that the two lines of intersection of the plane

ax + by + ¢z = Owith the cone yz+ZX + Xy = Owill be
perpendicularif 1 1 _1__ X i |
2 b 4 Lo
ax +b +cz=0 Z+Zx+xy-0@
y ey 8 DoHsodm

Coth Bye ¢S o8, & 'c?awo Slelusiy 808w

e
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SECTION -B

_ Each question carries Ten ™ 8
AnswerAll questlons ’ | ¢ 5x1”; '.
@@.@5&063 % BPTS KD Wdﬁ»tﬁw (8 @3'3;)_& ﬁ& ‘f

a) Find the bisector of the acute angle between' -: i
planes 2x —y +2z+3=0and
3x-2y+62+8=0.
2X—y+2z+3=0 SHdw 3X -2y + 6Z+ 8
Sospe Dyt oPn Bl coa’aaébsqaocsié 3‘5 :

- ¥So88es0 é&ﬁ)sszro& -

(OR/8cr)

b) Show that the equation

12x* - 2y* = 62% +Tyz +67x — 2Xy = Orep res' |
pairs of planes. Also find the angle between "‘_. |

12x* -2y* — 62" +Tyz+6zx ~ 2xy =0 & bos 6ol

0oth Berody KrDoHKY Srghsn $OdD avd _.
85055005 5508508,

X + +1 8
a) Prove that the lines —— 1 Bl and.

X+2y+3z2-8=0= 2X+3y+4z-11 };
. secting and find the point of their inter sectwﬂ -. |
also the equation to the plane cont

aining th?ﬂE |
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X+1_y+l_2z+1
. 2 3&36&3

.\:+2y+32-8=0=2x+3y+4z-—11

(OR/Sa»)

Find the length and equations of the shortest
distance between the lines X ! A iy 2 IR ay 3
2 3 4

X-2 _y=4 _z-35.
3. A 5
x-1 _Y¥Y-2 z-3 x-2 b s S s
2 S e 3 4 5
Mm%mmwgﬁ&gﬁo&wmm
mcmms&o&

Showthattheplane 2x — 2y+z+12=0touches
the sphere

x* +y? 422 -2x — —4y+2z—-3=0and find the
point of contact,

X* +y? 42 ~2x—4y+22-3=003 e

2x - ~2Y+z412=0 Soo 3)8%08 ©J Srd

58050 geg N, Doty E58H0a. '
~ (OR/&w)
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b) Show thatthe spheres x> + y2 +2z"=25=y, ]

a)

b)

x? + y-’+z"—24x-—-40y—182+225;:

; 12 91
touch externally at the pomt a5 ,4,— =

x? +y?* +z' -—25 0,

x4 y®+z —24x—40y—182+225..
&S ﬁ"‘j?en [12 4 9] aScS w’o?éor? @)1807535“
Srsoli- N2 E |
kad the 11m1t1ng pomts of the coaxial syste a'_ |

spheres of which two members are
x> +y* +2° +3x—_-3y+6—0,
x2.+y2.+_zz—_6y—_6z~i-6=0 |
'x2|+y2+22'+3>;;3y.+6;0;
X*+y*+2* —6y—62+6=0

Feros® A8y kg 9o iy RED8 @é& fod .
ééﬁs&o&, 1

. (OR/8ew)

Find the equation of thé cone with vertex.af (-1 i’
guiding curves 3x* — y? =1, z 0. 3

%50 ( 1,1 2) a"n&din AR 5@63)3 3X —y ‘__] Z.
8o fowd ShEmsn Saghon, =
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Find the equation of the right circular cone whose

~vertex is p(2,-3,5), axis PQ which makes equal

angles with the axes and semi-vertical angle 30°.

(2,-3,5) 85w e, 30° Boyg Ssndo SOA &)
Fogp) By oFsn PQ K)éoms‘s"oés J57S §5£aém
3, s Jognid &Dég,paibééeaéw 5:6355270&

(OR/Boe)

Prove that the perpendlculars drawn from the origin
to tangent planes to the

2x* +3y? 4 422 +2yz+4zx+6xy 0 lie on
the cone :

11x? +4y? 352 +8yZe6zx¥20xy=0
Qoo Hod

2x* +3y2 4 452 2yz + 4zX + 6Xy = 0 &5

Fogn) D) )8, Seswes AL edoow Tpen
1 IXZ s 4y2 — 322 + 8yz - 62X — 20XY =0 o

Soguih B ﬁsfi)é-):c:uts.‘{) SmHod.




